

Analysis of Inverse Euler-Bernoulli Equation with periodic boundary conditions

Irem Baglan^a, Timur Canel^b

^aDepartment of Mathematics, Kocaeli University, 41380, Kocaeli, Turkey

^bDepartment of Physics, Kocaeli University, 41380, Kocaeli, Turkey

Abstract. In this study, which aims to solve the inverse problem of a linear Euler-Bernoulli equation, the boundary condition has been periodically defined and integral overdetermination conditions. The conditions of the data used in the generalized Fourier method used to solve the problem have regularity and consistency.

1. Introduction

$T(t, x)$ is the displacement at time t and at position x , $o(x)$ is the bending stiffness, and $k(x) > 0$ is the linear mass on the Euler-Bernoulli problem. The behavior of an unloaded thin beam moving transversely can be described using the fourth-order partial differential equation:

$$k(x)(\partial^2 T)/(\partial t^2) + o(x)(\partial^2 T)/(\partial x^4) = 0, t > 0, 0 < x < L. \quad (1)$$

[1] studied isospectral properties and inhomogeneous variants of this equation. [2] used the Lie symmetry approach. [3] tried to solve it with Cartan's equivalence method. [4] obtained exact equivalence transformations by dealing with this problem initially [3] with some ambiguous functions. [5] investigated the transverse vibrations of a beam moving with time using the symmetry method and obtained approximate solutions for the problem.

If elastic modulus, area of inertia, mass per unit length, transverse displacement position x at time t and applied load are described as $E, I, \alpha, T(x, t)$ and f respectively, the PDE which is fourth-order can be given as below [6];

$$(EIT_{xx})_{xx} + \alpha T_{tt} = f(x, t), t > 0, 0 < x < L. \quad (2)$$

$$T_{xxxx} + T_{tt} = f(x, t), t > 0, 0 < x < L. \quad (3)$$

where E, I, α as constants [7].

Corresponding author: IB, mail address: isakinc@kocaeli.edu.tr ORCID:0000-0002-2877-9791, TC ORCID:0000-0002-4282-1806

Received: 10 October 2022; Accepted: 15 December 2022; Published: 30 December 2022

Keywords. inverse problem, euler bernoulli equation, periodic boundary condition

2010 Mathematics Subject Classification. 35K55, 35K70.

Cited this article as: Baglan I. and Canel T. Analysis of Inverse Euler-Bernoulli Equation with periodic boundary conditions, Turkish Journal of Science, 2022, 7(3), 146-156.

Vibration, buckling and dynamic behavior, which are frequently encountered in many fields from engineering to medicine, can be defined in a much broader way with the Euler-Bernoulli equations [8–16]. Many studies have been conducted on linear and quasi-linear equations and their applications in different fields [8–13].

Since periodic boundary conditions are encountered in many events, especially heat transfer, it has many application areas [14–16]. The existence and uniqueness of the solution of the problem are proved in section 2 using the Fourier and iteration methods. The stability of the method used to solve the problem is shown in section 3. Finally, a numerical procedure for solving the problem is presented in section 4.

Let $T > 0$ be fixed number and denote by $\Omega := \{0 < x < \pi, 0 < t < T\}$.

In case it is desired to obtain the function pairs $\{q(t), T(x, t)\}$ that will provide the equation given by Equation 4:

$$\frac{\partial^2 T}{\partial t^2} + \frac{\partial^4 T}{\partial x^4} = q(t)f(x, t), \quad (x, t) \in \Omega \tag{4}$$

$$\begin{aligned} T(0, t) &= T(\pi, t) \\ T_x(0, t) &= T_x(\pi, t) \\ T_{xx}(0, t) &= T_{xx}(\pi, t) \\ T_{xxx}(0, t) &= T_{xxx}(\pi, t), \quad t \in [0, T] \end{aligned} \tag{5}$$

$$T(x, 0) = \varphi(x), T_t(x, 0) = \psi(x), \quad x \in [0, \pi] \tag{6}$$

$$H(t) = \int_0^\pi xT(x, t)dx, \quad t \in [0, T] \tag{7}$$

The known functions $f(x, t), \varphi(x), \psi(x)$ and $H(t)$ expressed in equations (4)-/7) are known functions and are always continuous and have positive values. gets. The functions $u(x, t)$ and $r(t)$ are unknown. In the heat dissipation in a thin rod, studies have been made to obtain the total amount of heat dissipated [?].

Definition 1.1. $\{q(t), T(x, t)\}$ is called the inverse problem .

Definition 1.2. $v(x, t) \in C(\overline{\Omega})$ is a test function and satisfies these conditions;

$$v(x, T) = v_t(x, T) = 0, v(0, t) = v(\pi, t), v_x(0, t) = v_x(\pi, t), v_{xx}(0, t) = v_{xx}(\pi, t), v_{xxx}(0, t) = v_{xxx}(\pi, t), t \in [0, T].$$

Definition 1.3. $u(x, t) \in C(\overline{\Omega})$ can be called as generalized equation. Following equation can be obtained with the generalized equation.:

$$\int_0^T \int_0^\pi \left(\left\{ \frac{\partial^2 v}{\partial t^2} + \frac{\partial^4 v}{\partial x^4} \right\} u - r(t)fv \right) dxdt - \int_0^\pi v(x, 0)\psi(x)dx + \int_0^\pi v_t(x, 0)\varphi(x)dx = 0.$$

Nomenclature

- $\varphi(x), \psi(x)$ Initial condition
- $q(t)$ Unknown coefficient
- $H(t)$ Energy
- $T(x, t)$ Temperature distribution
- $f(x, t)$ Source function
- $T_0(t), T_{ck}(t), T_{sk}(t)$ Fourier coefficients
- M_1, M_2, M_3 constants
- $F(t)$ Continous function
- $K(t, \tau)$ Kernel function
- $\Omega := \{0 < x < \pi, 0 < t < T\}$ Domain of x, t

2. Solution of this problem

Let us look for solution of (1)-(4) in the form:

$$T(x, t) = \frac{u_0(t)}{2} + \sum_{k=1}^{\infty} (T_{ck}(t) \cos 2kx + T_{sk}(t) \sin 2kx)$$

The Fourier coefficients in Equation 8 can be obtained by applying the standard procedure of the Fourier method:

$$\begin{aligned} T(x, t) = & \frac{1}{2} \left[\varphi_0 + \psi_0 t + \frac{2}{\pi} \int_0^t \int_0^\pi (t - \tau) q(\tau) f(\xi, \tau) d\xi d\tau \right] \\ & + \sum_{k=1}^{\infty} \left[\varphi_{ck} \cos(2k)^2 t + \frac{\psi_{ck}}{\pi(2k)^2} \sin(2k)^2 t \right] \cos 2kx \\ & + \sum_{k=1}^{\infty} \left[\frac{2}{\pi(2k)^2} \int_0^t \int_0^\pi f(\xi, \tau, T) q(\tau) \sin(2k)^2 (t - \tau) \cos 2k\xi d\xi d\tau \right] \cos 2kx \\ & + \sum_{k=1}^{\infty} \left[\varphi_{sk} \cos(2k)^2 t + \frac{\psi_{sk}}{\pi(2k)^2} \sin(2k)^2 t \right] \sin 2kx \\ & + \sum_{k=1}^{\infty} \left[\frac{2}{\pi(2k)^2} \int_0^t \int_0^\pi f(\xi, \tau, T) q(\tau) \sin(2k)^2 (t - \tau) \sin 2k\xi d\xi d\tau \right] \sin 2kx \end{aligned} \tag{8}$$

Definition 2.1. The pair $\{q(t), T(x, t)\} \in C(\overline{\Omega})$ is called the classical solution of the problems (1)-(4) .

Theorem 2.2. Suppose that the following conditions hold:

- (A1) $H(t) \in C^2 [0, T]$,
- (A2) $\varphi(x) \in C^3 [0, \pi], \psi(x) \in C^1 [0, \pi]$,
- $\varphi(0) = \varphi(\pi), \varphi'(0) = \varphi'(\pi), \varphi''(0) = \varphi''(\pi), \psi(0) = \psi(\pi), \psi'(0) = \psi'(\pi)$,
- (A3) $f(x, t) \in C(\overline{\Omega}), f(0, t) = f(\pi, t), f_x(0, t) = f_x(\pi, t)$,
- (A4) $\int_0^\pi x f(x, t) dx \neq 0, \forall x \in [0, \pi]$

then the solution of system (1)-(4) has unique solutions.

Proof. The assumptions $\varphi(0) = \varphi(\pi), \varphi'(0) = \varphi'(\pi), \psi(0) = \psi(\pi), f(0,t) = f(\pi,t)$, are verify for the representation (7) of the solution $T(x,t)$. Further, under $\varphi(x) \in C^3 [0, \pi], \psi(x) \in C [0, \pi], f(x,t) \in C(\overline{\Omega})$, the series (7) converge uniformly in $\overline{\Omega}$ since their majorizing sums are absolutely convergent. Under the conditions, since the majorizing sum of the t-partial derivative series are convergent, $T_t(x,t), T_{tt}(x,t)$ i is continuous in $\overline{\Omega}$. because the majorizing sum of t-partial derivative series is absolutely convergent under the conditions $\varphi(0) = \varphi(\pi), \varphi'(0) = \varphi'(\pi), \varphi''(0) = \varphi''(\pi), \psi(0) = \psi(\pi), \psi'(0) = \psi'(\pi), f(0,t) = f(\pi,t), f_x(0,t) = f_x(\pi,t)$ in $\overline{\Omega}$.

From the (5) and under the condition (A1) to obtain:

$$H''(t) = \int_0^\pi x T_{tt}(x,t) dx \tag{9}$$

The formulas (5)-(6) yield the following equation:

$$q(t) = \frac{H''(t) - \pi \sum_{k=1}^\infty (2k)^3 \left\{ \varphi_{sk} \cos(2k)^2 t + \frac{\psi_{sk}}{(2k)^2} \sin(2k)^2 t + \frac{1}{(2k)^2} \int_0^t f_{sk}(\tau) q(\tau) \sin(2k)^2 (t - \tau) d\tau \right\}}{\int_0^\pi x f(x,t) dx}$$

From The second kind Volterra integral equation:

$$q(t) = F(t) + \int_0^t K(t,\tau) q(\tau) d\tau, t \in [0, T] \tag{10}$$

$$F(t) = \frac{H''(t) - \pi \sum_{k=1}^\infty (2k)^3 \varphi_{sk} \cos(2k)^2 t - \pi \sum_{k=1}^\infty (2k) \psi_{sk} \sin(2k)^2 t}{\int_0^\pi x f(x,t) dx}, \tag{11}$$

$$K(t,\tau) = \frac{-\pi \sum_{k=1}^\infty (2k) \int_0^t f_{sk}(\tau) q(\tau) \sin(2k)^2 (t - \tau) d\tau}{\int_0^\pi x f(x,t) dx}. \tag{12}$$

Let $F(t)$ and the kernel $K(t,\tau)$ are continuous functions:

$$F(t) = \frac{H''(t) - \pi \sum_{k=1}^\infty (2k)^3 \left(\int_0^\pi \varphi(\xi) \sin 2k\xi d\xi \right) \cos(2k)^2 t - \pi \sum_{k=1}^\infty (2k) \left(\int_0^\pi \psi(\xi) \sin 2k\xi d\xi \right) \sin(2k)^2 t}{\int_0^\pi x f(x,t) dx},$$

we applying partial integration method for convergence ,

$$\varphi_{sk} = \frac{2}{\pi} \int_0^\pi \varphi(\xi) \sin 2k\xi d\xi = -\frac{1}{2k} \varphi'_{ck} = \frac{1}{(2k)^2} \varphi''_{sk} = \frac{-1}{(2k)^3} \varphi'''_{ck}$$

$$\psi_{sk} = \frac{2}{\pi} \int_0^\pi \psi(\xi) \sin 2k\xi d\xi = -\frac{1}{2k} \psi'_{ck}$$

$$F(t) = \frac{H''(t) + \pi \sum_{k=1}^\infty (2k)^3 \frac{1}{(2k)^3} \varphi'''_{ck} \cos(2k)^2 t + \pi \sum_{k=1}^\infty (2k) \frac{1}{2k} \psi'_{ck} \sin(2k)^2 t}{\int_0^\pi x f(x,t) dx},$$

$$F(t) = \frac{H''(t) + \pi \sum_{k=1}^{\infty} \varphi_{ck}''' \cos(2k)^2 t + \pi \sum_{k=1}^{\infty} \psi'_{ck} \sin(2k)^2 t}{\int_0^{\pi} x f(x, t) dx},$$

$$|F(t)| \leq \frac{|H''(t)| + \pi \sum_{k=1}^{\infty} |\varphi_{ck}''| + \pi \sum_{k=1}^{\infty} |\psi'_{ck}|}{\left| \int_0^{\pi} x f(x, t) dx \right|}$$

$$|F(t)| \leq \frac{2 \left(|H''(t)| + \pi \sum_{k=1}^{\infty} |\varphi_{ck}''| + \pi \sum_{k=1}^{\infty} |\psi'_{ck}| \right)}{M\pi^2}$$

Taking maximum both of sides

$$\|F(t)\| \leq \frac{2 \left(\|H''(t)\| + \pi \sum_{k=1}^{\infty} \|\varphi_{ck}''\| + \pi \sum_{k=1}^{\infty} \|\psi'_{ck}\| \right)}{M\pi^2}.$$

$$K(t, \tau) = \frac{-\pi \sum_{k=1}^{\infty} (2k) \int_0^t f_{sk}(\tau) q(\tau) \sin(2k)^2 (t - \tau) d\tau}{\int_0^{\pi} x f(x, t) dx}$$

$$f_{sk} = \frac{2}{\pi} \int_0^{\pi} f(\xi, \tau) \sin 2k\xi d\xi = -\frac{1}{2k} (f_{ck})_x$$

$$K(t, \tau) = \frac{-\pi \sum_{k=1}^{\infty} (2k) \int_0^t \int_0^{\pi} f(\xi, \tau) q(\tau) \sin(2k)^2 (t - \tau) \sin 2k\xi d\xi d\tau}{\int_0^{\pi} x f(x, t) dx}$$

$$K(t, \tau) = \frac{\pi \sum_{k=1}^{\infty} \int_0^t \frac{(2k)}{(2k)} (f_{ck})_x \sin(2k)^2 (t - \tau) d\tau}{\int_0^{\pi} x f(x, t) dx}$$

$$|K(t, \tau)| \leq \frac{\pi \sum_{k=1}^{\infty} |(f_{ck})_x| \left| \int_0^t \sin(2k)^2 (t - \tau) d\tau \right|}{\left| \int_0^{\pi} x f(x, t) dx \right|}$$

Taking maximum both of sides

$$\|K(t, \tau)\| \leq \frac{2 \sum_{k=1}^{\infty} \|(f_{ck})_x\| \|T\|}{M\pi}$$

Under the assumption (A1)-(A2) and according to Weierstrass M test the function $F(t)$ and the kernel $K(t, \tau)$ are continuous functions The unique solution of the inverse problem (1)-(4) according to Volterra Theorem. \square

3. Stability of Problem

The result in the theorem given below is valid for solving problems from equality (1) to (4).

Theorem 3.1. $\Phi = \{\varphi, \psi, H, f\}$ satisfy the assumptions (A1)-(A4) of theorem 1 then the solution (u, r) of the problem (1)-(4) depends continuously upon the data f, φ, ψ, H .

Proof. Suppose that there exist positive constants $M_i, i = 1, 2, 3$.

Let us denote $\|\Phi\| = (\|H\|_{C^1[0,T]} + \|\varphi\|_{C^1[0,\pi]} + \|\psi\|_{C[0,\pi]} + \|f\|_{C(\bar{\Omega})})$. Let (u, r) and (\bar{u}, \bar{r}) be solutions of inverse problems (1)-(4) corresponding to the data $\Phi = \{\varphi, \psi, H, f\}$ and $\bar{\Phi} = \{\bar{\varphi}, \bar{\psi}, \bar{H}, \bar{E}, \bar{f}\}$ respectively.

$$F(t) - \bar{F}(t) = \frac{H''(t) - \overline{H''(t)} + \pi \sum_{k=1}^{\infty} (\varphi_{ck}''' - \overline{\varphi_{ck}'''}) \cos(2k)^2 t + \pi \sum_{k=1}^{\infty} (\psi'_{ck} - \overline{\psi'_{ck}}) \sin(2k)^2 t}{\int_0^{\pi} x f(x, t) dx}$$

Equation (13) can be obtained with the maximum of both sides of this equation:

$$\|F - \bar{F}\| \leq \frac{2}{\pi^2 M} \left\{ \|H'(t) - \overline{H'(t)}\| + \pi \sum_{k=1}^{\infty} \left(\|\varphi_{ck}''' - \overline{\varphi_{ck}'''}\| + \|\psi'_{ck} - \overline{\psi'_{ck}}\| \right) \right\}. \tag{13}$$

$$K(t, \tau) = \frac{\pi \sum_{k=1}^{\infty} \int_0^t (f_{ck})_x \sin(2k)^2 (t - \tau) d\tau}{\int_0^{\pi} x f(x, t) dx}$$

$$K - \bar{K} = \frac{\pi \sum_{k=1}^{\infty} \int_0^t (f_{ck})_x \sin(2k)^2 (t - \tau) d\tau}{\int_0^{\pi} x f(x, t) dx} - \frac{\pi \sum_{k=1}^{\infty} \int_0^t \overline{(f_{ck})_x} \sin(2k)^2 (t - \tau) d\tau}{\int_0^{\pi} \overline{x f(x, t)} dx}$$

$$K - \bar{K} = \frac{\left(\pi \sum_{k=1}^{\infty} \int_0^t (f_{ck})_x \sin(2k)^2 (t - \tau) d\tau \right) \left(\int_0^{\pi} \overline{x f(x, t)} dx \right) - \left(\pi \sum_{k=1}^{\infty} \int_0^t \overline{(f_{ck})_x} \sin(2k)^2 (t - \tau) d\tau \right) \left(\int_0^{\pi} x f(x, t) dx \right)}{\left(\int_0^{\pi} x f(x, t) dx \right) \left(\int_0^{\pi} \overline{x f(x, t)} dx \right)}$$

$$\begin{aligned}
 K - \bar{K} &= \frac{\left(\pi \sum_{k=1}^{\infty} \int_0^t (f_{ck})_x \sin(2k)^2(t - \tau) d\tau \right) \left(\int_0^{\pi} x \overline{f(x, t)} dx \right)}{\left(\int_0^{\pi} x f(x, t) dx \right) \left(\int_0^{\pi} x \overline{f(x, t)} dx \right)} \\
 &\quad - \frac{\left(\pi \sum_{k=1}^{\infty} \int_0^t \overline{(f_{ck})_x} \sin(2k)^2(t - \tau) d\tau \right) \left(\int_0^{\pi} x f(x, t) dx \right)}{\left(\int_0^{\pi} x f(x, t) dx \right) \left(\int_0^{\pi} x \overline{f(x, t)} dx \right)} \\
 &\quad + \frac{\left(\pi \sum_{k=1}^{\infty} \int_0^t \overline{(f_{ck})_x} \sin(2k)^2(t - \tau) d\tau \right) \left(\int_0^{\pi} x \overline{f(x, t)} dx \right)}{\left(\int_0^{\pi} x f(x, t) dx \right) \left(\int_0^{\pi} x \overline{f(x, t)} dx \right)} \\
 &\quad - \frac{\left(\pi \sum_{k=1}^{\infty} \int_0^t (f_{ck})_x \sin(2k)^2(t - \tau) d\tau \right) \left(\int_0^{\pi} x f(x, t) dx \right)}{\left(\int_0^{\pi} x f(x, t) dx \right) \left(\int_0^{\pi} x \overline{f(x, t)} dx \right)} \\
 \\
 K - \bar{K} &= \frac{\left(\pi \sum_{k=1}^{\infty} \int_0^t ((f_{ck})_x - \overline{(f_{ck})_x}) \sin(2k)^2(t - \tau) d\tau \right) \left(\int_0^{\pi} x \overline{f(x, t)} dx \right)}{\left(\int_0^{\pi} x f(x, t) dx \right) \left(\int_0^{\pi} x \overline{f(x, t)} dx \right)} \\
 &\quad - \frac{\left(\int_0^{\pi} x (f(x, t) - \overline{f(x, t)}) dx \right) \left(\pi \sum_{k=1}^{\infty} \int_0^t \overline{(f_{ck})_x} \sin(2k)^2(t - \tau) d\tau \right)}{\left(\int_0^{\pi} x f(x, t) dx \right) \left(\int_0^{\pi} x \overline{f(x, t)} dx \right)} \\
 \\
 |K - \bar{K}| &\leq \frac{\frac{\pi^3}{2} M \sum_{k=1}^{\infty} |(f_{ck})_x - \overline{(f_{ck})_x}|}{\frac{\pi^4}{2} M^2} + \frac{\frac{\pi^3}{2} M |f - \bar{f}|}{\frac{\pi^4}{2} M^2}
 \end{aligned}$$

Equation (14) can be obtained with the maximum of both sides of this equation:

$$\|K - \bar{K}\| \leq \frac{2}{\pi M} \|T\| \|f - \bar{f}\| + \frac{2}{\pi M} \|T\| \sum_{k=1}^{\infty} \|(f_{ck})_x - \overline{(f_{ck})_x}\| \tag{14}$$

Using same estimations, we obtain

$$\|q - \bar{q}\| \leq \|F - \bar{F}\| + |T| \|K\| \|r - \bar{r}\| + \|\bar{r}\| \|K - \bar{K}\|,$$

From (10)-(11) we also obtain that

$$\|q - \bar{q}\| \leq \frac{2}{\pi^2 M(1 - |T| |K|)} \left\{ \|H'(t) - \overline{H'(t)}\| + \pi \sum_{k=1}^{\infty} \left\| \varphi_{ck}''' - \overline{\varphi_{ck}'''} \right\| + \left\| \psi'_{ck} - \overline{\psi'_{ck}} \right\| \right\} \\ + \frac{2 \|\bar{r}\| \|T\|}{\pi M(1 - |T| |K|)} \|f - \bar{f}\| + \frac{2 \|\bar{r}\| \|T\|^2}{\pi M(1 - |T| |K|)} \sum_{k=1}^{\infty} \left\| (f_{ck})_x - \overline{(f_{ck})_x} \right\|$$

We obtain the difference u and \bar{u} from (5):

$$T - \bar{T} = \frac{1}{2} \left[(\varphi_0 - \overline{\varphi_0}) + (\psi_0 - \overline{\psi_0})t + \int_0^t (t - \tau)q(\tau)(f_0 - \overline{f_0})d\tau \right] \\ + \sum_{k=1}^{\infty} \left[(\varphi_{ck} - \overline{\varphi_{ck}}) \cos(2k)^2 t + \frac{(\psi_{ck} - \overline{\psi_{ck}})}{(2k)^2} \sin(2k)^2 t \right] \cos 2kx \\ + \sum_{k=1}^{\infty} \left[\frac{1}{(2k)^2} \int_0^t (f_{ck} - \overline{f_{ck}})q(\tau) \sin(2k)^2(t - \tau)d\tau \right] \cos 2kx \tag{15} \\ + \sum_{k=1}^{\infty} \left[(\varphi_{sk} - \overline{\varphi_{sk}}) \cos(2k)^2 t + \frac{(\psi_{sk} - \overline{\psi_{sk}})}{(2k)^2} \sin(2k)^2 t \right] \sin 2kx \\ + \sum_{k=1}^{\infty} \left[\frac{1}{(2k)^2} \int_0^t (f_{sk} - \overline{f_{sk}})q(\tau) \sin(2k)^2(t - \tau)d\tau \right] \sin 2kx$$

Taking maximum both of sides

$$\|T - \bar{T}\| \leq \frac{1}{2} \|\varphi_0 - \overline{\varphi_0}\| + \frac{1}{2} |T| \|\psi_0 - \overline{\psi_0}\| + \frac{1}{2} |T| \|f_0 - \overline{f_0}\| \\ + \sum_{k=1}^{\infty} (\|\varphi_{ck} - \overline{\varphi_{ck}}\| + \|\varphi_{sk} - \overline{\varphi_{sk}}\|) \\ + \sum_{k=1}^{\infty} \frac{1}{(2k)^2} (\|\psi_{ck} - \overline{\psi_{ck}}\| + \|\psi_{sk} - \overline{\psi_{sk}}\|) \\ + \sum_{k=1}^{\infty} |T| \|f_{ck} - \overline{f_{ck}}\| \|q\| + \sum_{k=1}^{\infty} |T| \|f_{sk} - \overline{f_{sk}}\| \|r\| \\ + \sum_{k=1}^{\infty} |T| \|\overline{f_{ck}}\| \|q - \bar{q}\| + \sum_{k=1}^{\infty} |T| \|\overline{f_{sk}}\| \|q - \bar{q}\|$$

Applying Hölder inequality,

$$\begin{aligned}
 \|u - \bar{u}\| &\leq \frac{1}{2} \|\varphi_0 - \bar{\varphi}_0\| + \frac{1}{2} |T| \|\psi_0 - \bar{\psi}_0\| + \frac{1}{2} |T| \|f_0 - \bar{f}_0\| \\
 &+ \sum_{k=1}^{\infty} (\|\varphi_{ck} - \bar{\varphi}_{ck}\| + \|\varphi_{sk} - \bar{\varphi}_{sk}\|) \\
 &+ \frac{1}{4} \left(\sum_{k=1}^{\infty} \frac{1}{k^2} \right)^2 \left(\sum_{k=1}^{\infty} [\|\psi_{ck} - \bar{\psi}_{ck}\| + \|\psi_{sk} - \bar{\psi}_{sk}\|]^2 \right)^{\frac{1}{2}} \\
 &+ \frac{1}{4} \left(\sum_{k=1}^{\infty} \frac{1}{k^2} \right)^2 \sum_{k=1}^{\infty} (|T| \|f_{ck} - \bar{f}_{ck}\| \|q\|)^{\frac{1}{2}} \\
 &+ \frac{1}{4} \left(\sum_{k=1}^{\infty} \frac{1}{k^2} \right)^2 \sum_{k=1}^{\infty} (|T| \|f_{sk} - \bar{f}_{sk}\| \|q\|)^{\frac{1}{2}} \\
 &+ \frac{1}{4} \left(\sum_{k=1}^{\infty} \frac{1}{k^2} \right)^2 \sum_{k=1}^{\infty} (|T| \|\bar{f}_{ck}\| \|q - \bar{q}\|)^{\frac{1}{2}} \\
 &+ \frac{1}{4} \left(\sum_{k=1}^{\infty} \frac{1}{k^2} \right)^2 \sum_{k=1}^{\infty} (|T| \|\bar{f}_{sk}\| \|q - \bar{q}\|)^{\frac{1}{2}}
 \end{aligned}$$

$$\begin{aligned}
 \|T - \bar{T}\| &\leq \frac{1}{2} \|\varphi_0 - \bar{\varphi}_0\| + \frac{1}{2} |T| \|\psi_0 - \bar{\psi}_0\| + \frac{1}{2} |T| \|f_0 - \bar{f}_0\| \\
 &+ \sum_{k=1}^{\infty} (\|\varphi_{ck} - \bar{\varphi}_{ck}\| + \|\varphi_{sk} - \bar{\varphi}_{sk}\|) \\
 &+ \frac{\pi^2}{24} \sum_{k=1}^{\infty} \|\psi_{ck} - \bar{\psi}_{ck}\| + \|\psi_{sk} - \bar{\psi}_{sk}\| \\
 &+ \frac{\pi^2}{24} \sum_{k=1}^{\infty} |T| \|f_{ck} - \bar{f}_{ck}\| \|q\| \\
 &+ \frac{\pi^2}{24} \sum_{k=1}^{\infty} |T| \|f_{sk} - \bar{f}_{sk}\| \|q\| \\
 &+ \frac{\pi^2}{24} \sum_{k=1}^{\infty} |T| \|\bar{f}_{ck}\| \|q - \bar{q}\| \\
 &+ \frac{\pi^2}{24} \sum_{k=1}^{\infty} |T| \|\bar{f}_{sk}\| \|q - \bar{q}\|
 \end{aligned}$$

$$\|T - \bar{T}\| \leq M_1 \|\varphi - \bar{\varphi}\| + M_2 \|\psi - \bar{\psi}\| + M_3 \|f - \bar{f}\| + M_4 \|H'' - \bar{H}''\|$$

where

$$\begin{aligned}
 M_1 &= \max \left\{ \frac{1}{2}, 1, \frac{|T| \pi}{6(1 - |T| |K|)} \right\}, \\
 M_2 &= \max \left\{ \frac{\pi^2}{24}, \frac{|T| \pi}{6(1 - |T| |K|)} \right\}, \\
 M_3 &= \max \left\{ \frac{|T|}{2}, |T| \|q\|, \frac{|T| \pi \|\bar{q}\|}{6(1 - |T| |K|)}, \frac{|T|^3 \pi \|\bar{q}\|}{6(1 - |T| |K|)} \right\}, \\
 M_4 &= \max \left\{ \frac{|T|}{6(1 - |T| |K|)} \right\}
 \end{aligned}$$

we also obtain that

$$\|T - \bar{T}\| \leq M_5 \|\Phi - \bar{\Phi}\|,$$

where

$$M_5 = \max \{M_1, M_2, M_3, M_4\}.$$

For $\Phi \rightarrow \bar{\Phi}$ then $u \rightarrow \bar{u}$. \square

4. Numerical Method

We use finite-difference approximation for discretizing problem (1)-(3):

$$\frac{1}{\tau^2} (T_i^{j+1} - 2T_i^j + T_i^{j-1}) + \frac{1}{h^4} (T_{i+2}^j - 4T_{i+1}^j + 6T_i^j - 4T_{i-1}^j + T_{i-2}^j) = q^j \tilde{f}_i^j$$

$$T_i^0 = \phi_i, \frac{1}{\tau} (T_i^1 - T_i^0) = \psi_i \tag{16}$$

$$T_0^j = T_{N_x+1}^j, \tag{17}$$

$$T_1^j = T_{N_x+2}^j, \tag{18}$$

$$T_{-1}^j = T_{N_x}^j, \tag{19}$$

$$T_2^j - T_{-2}^j = T_{N_x+3}^j - T_{N_x-1}^j, \tag{20}$$

The domain $[0, \pi] \times [0, T]$ is divided into an $N_x \times N_t$ mesh with the spatial step size $h = \pi/N_x$ in x direction and the time step size $\tau = T/N_t$, respectively.

x_i, t_j are defined by

$$x_i = ih; i = 0; 1; 2; \dots; N_x;$$

$$t_j = j\tau; j = 0; 1; 2; \dots; N_t;$$

$$T_i^j = T(x_i, t_j), \tilde{f}_i^j = \tilde{f}(x_i, t_j), q^j = q(t_j).$$

Let us integrate the equation (1) respect to x from 0 to π , we obtain

$$q(t) = \frac{H''(t)}{\int_0^\pi \tilde{f}(x, t) dx}. \tag{21}$$

The finite difference approximation of (18) is

$$q^j = \frac{\left((H^{j+1} - 2H^j + H^{j-1}) / \tau^2 \right)}{\left(\int_0^\pi \bar{f}_i^j dx \right)}.$$

where $H^j = H(t_j)$, $q^j = q(t_j)$, $j = 0, 1, \dots, N_t$. We mention that the integral is numerically calculated using Simpson's rule of integration. The system of equations (13)-(17) is solved and u_i^j, q^j is determined. The condition for stopping the iteration depends on the value difference between the two iterations. Iteration should be stopped when this difference is equal to the tolerance predicted previously.

References

- [1] H. P. W. Gottlieb, "Isospectral Euler-Bernoulli beams with continuous density and rigidity functions," *Proceedings of the Royal Society of London Series A: Mathematical, Physical and Engineering Sciences*, vol. 413, no. 1844, pp. 235–250, 1987.
- [2] C. W. Soh, "Euler-Bernoulli beams from a symmetry standpoint—characterization of equivalent equations," *Journal of Mathematical Analysis and Applications*, vol. 345, no. 1, pp. 387–395, 2008.
- [3] O. I. Morozov and C. W. Soh, "The equivalence problem for the Euler-Bernoulli beam equation via Cartan's method," *Journal of Physics A: Mathematical and Theoretical*, vol. 41, no. 13, 135206, pp. 135–206, 2008.
- [4] J. C. Ndogmo, "Equivalence transformations of the Euler-Bernoulli equation," *Nonlinear Analysis: Real World Applications*, vol. 13, no. 5, pp. 2172–2177, 2012.
- [5] E. Ozkaya and M. Pakdemirli, "Group-theoretic approach to axially accelerating beam problem," *Acta Mechanica*, vol. 155, no. 1-2, pp. 111–123, 2002.
- [6] A. E. H. Love, *A Treatise on the Mathematical Theory of Elasticity*, Dover Publications, New York, NY, USA, 4th edition, 1944.
- [7] A. H. Bokhari, F. M. Mahomed, and F. D. Zaman, "Invariant boundary value problems for a fourth-order dynamic Euler-Bernoulli beam equation," *Journal of Mathematical Physics*, vol. 53, no. 4, 2012.
- [8] He X.Q., Kitipornchai S., Liew K.M., "Buckling analysis of multi-walled carbon nanotubes a continuum model accounting for van der Waals interaction", *Journal of the Mechanics and Physics of Solids*, 53, 303-326, 2005.
- [9] Natsuki T., Ni Q.Q., Endo M., "Wave propagation in single- and double-walled carbon nano tubes filled with fluids", *Journal of Applied Physics*, 101, 034319, 2007.
- [10] Yana Y., He X.Q., Zhanga L.X., Wang C.M., "Dynamic behavior of triple-walled carbon nano-tubes conveying fluid", *Journal of Sound and Vibration*, 319, 1003-1018, 2010.
- [11] T.S. Jang, "A new solution procedure for a nonlinear infinite beam equation of motion", *Commun. Nonlinear Sci. Numer. Simul.*, 39, 321–331, 2016.
- [12] T.S. Jang, "A general method for analyzing moderately large deflections of a non-uniform beam: an infinite Bernoulli–Euler–von Karman beam on a non-linear elastic foundation", *Acta Mech*, 225, pp. 1967–1984, 2014.
- [13] Mohebbi A. & Abbasi M., "A fourth-order compact difference scheme for the parabolic inverse problem with an overspecification at a point", *Inverse Problems in Science and Engineering*, 23:3, 457-478, DOI:10.1080/17415977.2014.922075, 2014.
- [14] Pourgholia, R, Rostamiana, M. and Emamjome, M., "A numerical method for solving a nonlinear inverse parabolic problem", *Inverse Problems in Science and Engineering*, 18:8, 1151-1164, 2010.
- [15] I. Baglan and F. Kanca, "An inverse coefficient problem for a quasilinear parabolic equation with periodic boundary and integral overdetermination condition", *Math. Meth. Appl. Sci.*, DOI: 10.1002/mma.3112, 2015.
- [16] Hill, G.W., On the part of the motion of the lunar perigee which is a function of the mean motions of the sun and moon, *Acta Mathematica*, 8, 1-36, 1986.